# On Some Properties of the Omega-Operator, Defined on Class of Analytic in the Half-Plane Functions 

J. Kirjackis ${ }^{1}$, E.G. Kiriyatzkii ${ }^{2}$<br>Vilnius Gediminas Technical University, Saulėtekio av. 11, 10223 Vilnius, Lithuania<br>${ }^{1}$ ekira@post.omnitel.net, ${ }^{2}$ eduard.kiriyatzkii@takas.lt

Received: 19.01.2004
Accepted: 18.02.2004


#### Abstract

In present paper the properties of the operator introduced by authors, which is defined on special class of n-normalized analytic in the half-plane functions are investigated. This operator is closely related with automorphism of a half-plane. Close connection of this operator with divided difference of $n$-th order is shown. The fixed points of the operator were found. Some other invariants, related with operator are under consideration.


Keywords: analytic functions, automorphism, divided difference.

## 1 Major notational conventions, definitions and auxiliary statements

Let $\Pi$ is a half-plane $\operatorname{Re} z>0, A_{n}(\Pi)$ - class of analytical in $\Pi$ functions $F(z)$ with condition $F^{(n)}(z) \neq 0, \forall z \in \Pi$. $\widetilde{A}_{n}(\Pi)$ - class of analytical in $\Pi$ functions $F(z)$ from $A_{n}(\Pi)$, which are normalized by conditions:

$$
\begin{equation*}
F(1)=F^{\prime}(1)=\ldots=F^{(n-1)}(1)=0, \quad F^{(n)}(1)=n!. \tag{1}
\end{equation*}
$$

Obviously, that for any fixed $m \geq 2$ every function $F(z)$ of $\widetilde{A}_{n}(\Pi)$ can be represented in form

$$
F(z)=(z-1)^{n}+\sum_{k=2}^{m} a_{k, n}(z-1)^{n+k-1}+\Psi_{m}(z)
$$

where $\Psi_{m}(z)$ - dependent on $F(z)$ analytical in $\Pi$ function. Number $a_{k, n}=\frac{F^{(n+k-1)}(1)}{(n+k-1)!}$ we call by $k$-th coefficient of function $F(z)$.

Let us introduce the operator

$$
N_{n}[F]=\frac{F(z)-F(1)-F^{\prime}(1)(z-1)-\ldots-\frac{1}{(n-1)!} F^{(n-1)}(1)(z-1)^{n-1}}{\frac{1}{n!} F^{(n)}(1)}
$$

which we call by normalizing operator. This operator transfers any function from $A_{n}(\Pi)$ to a function of class $\widetilde{A}_{n}(\Pi)$. For $n=0$ we set that $N_{0}[F]=$ $F(z) / F(1)$. It is obviously that:

1. $N_{n}[c F+P]=N_{n}[F]$, where $c \neq 0$ and $P$ is a polynomial of the degree no higher than $n-1$;
2. $N_{n}\left[N_{n}[F]\right]=N_{n}[F]$.

Denote by $A(D)$ class of analytical in $D$ functions. The $n$-th divided difference of function $F(z) \in A(D)$ define (see [1, 2]) by formula

$$
\begin{equation*}
\left[F(z) ; z_{0}, \ldots, z_{n}\right]=\frac{1}{2 \pi i} \int_{\Gamma} \frac{F(\xi) d \xi}{\left(\xi-z_{0}\right) \ldots\left(\xi-z_{n}\right)} \tag{2}
\end{equation*}
$$

where $\Gamma$ is a simple closed contour, located in $D$ and covering all the points $z_{0}, \ldots, z_{n} \in D$. In formula (2) among the points $z_{0}, \ldots, z_{n} \in D$ may occur coincident. For pairwise different points $z_{0}, \ldots, z_{n} \in D$ for $n$-th order divided difference, the formula

$$
\begin{equation*}
\left[F(z) ; z_{0}, \ldots, z_{n}\right]=\sum_{m=0}^{n} \frac{F\left(z_{m}\right)}{\eta_{n}^{\prime}\left(z_{m}\right)} \tag{3}
\end{equation*}
$$

where

$$
\eta_{n}(z)=\prod_{p=0}^{n}\left(z-z_{p}\right)
$$

is valid ([1, 2]).

For arbitrarily fixed points $z_{0}, \ldots, z_{n} \in D$ divided difference $[F(z)$; $\left.z_{0}, \ldots, z_{n}\right]$ represents a linear functional, defined on class $A(D)$. Note, that

$$
\left[P(z) ; z_{0}, \ldots, z_{n}\right]=0, \quad \forall z_{0}, \ldots, z_{n} \in D
$$

if $P(z)$ is a polynomial of the degree no higher than $n-1$. The following statement is valid ([3]):

Lemma 1. If $\left[F(z) ; z_{0}, \ldots, z_{n}\right] \neq 0$, for pairwise different $z_{0}, \ldots, z_{n} \in D$, then $\left[F(z) ; z_{0}, \ldots, z_{n}\right] \neq 0$ for all $z_{0}, \ldots, z_{n} \in D$ (i.e among points $z_{0}, \ldots$, $z_{n} \in D$ may occur coincident). In particular, for $z_{0}=z_{1}=\ldots=z_{n}=\zeta$ relationship

$$
\left[F(z) ; z_{0}, \ldots, z_{n}\right]=\frac{1}{n!} F^{(n)}(\zeta) \neq 0, \quad \forall \zeta \in D
$$

holds true.
Note, that if $n=1$ and $\left[F(z) ; z_{0}, z_{1}\right] \neq 0$ for all distinct $z_{0}, z_{1} \in D$, then

$$
\left[F(z) ; z_{0}, z_{1}\right]=\frac{F\left(z_{0}\right)-F\left(z_{1}\right)}{z_{0}-z_{1}} \neq 0, \quad \forall z_{0}, z_{1} \in D
$$

hence $F\left(z_{0}\right) \neq F\left(z_{1}\right), \forall z_{0}, z_{1} \in D$, so we get a class of univalent in the domain $D$ functions ( $[4,5])$.

Denote by $K_{n}(D)$ class of analytical in $D$ functions $F(z)$, such that $\left[F(z) ; z_{0}, \ldots, z_{n}\right] \neq 0$ for all pairwise different $z_{0}, \ldots, z_{n} \in D$. For $n=1$, as it was shown above, class $K_{1}(D)$ is a class of univalent in $D$ functions, which play a large role in conformal mapping theory and in geometrical theory of analytical functions ([4, 5]). From Lemma 1 and definition of class $K_{n}(D)$ we get

Lemma 2. If $F(z) \in K_{n}(D)$, then $F^{(n)}(z) \neq 0$ for all $z \in D$. Taking into account elementary properties [1] and definition of class $K_{n}(D)$, we will get the following

Lemma 3. If $F(z) \in K_{n}(D)$, then

$$
c F(z)+P(z) \in K_{n}(D)
$$

where $c \neq 0, P(z)$ is a polynomial of the degree no higher than $n-1$.

It is obvious, that statement formulated above stay true in case, when domain $D$ is a half-plane $\Pi$. Using Lemma 3 we arrive at conclusion, that in class $K_{n}(\Pi)$ we can evolve a subclass $\widetilde{K}_{n}(\Pi)$ of normalized functions, which satisfy the condition (1).

We need a theorem, having also an independent interest.
Theorem 1. Let $F(\xi) \in A\left(D_{0}\right)$ and linear-fractional function

$$
\xi=\frac{a z+b}{c z+d}, \quad a d-b c \neq 0
$$

maps domain $D$ onto domain $D_{0}$. Let also

$$
\xi_{k}=\frac{a z_{k}+b}{c z_{k}+d}, \quad z_{k} \in D, \quad \xi_{k} \in D_{0}
$$

Then

$$
\begin{aligned}
& {\left[F(\xi) ; \xi_{0}, \ldots, \xi_{n}\right]} \\
& \quad=(a d-b c)^{-n} \prod_{k=0}^{n}\left(c z_{k}+d\right)\left[\left(c z_{k}+d\right)^{n-1} F\left(\frac{a z+b}{c z+d}\right) ; z_{0}, \ldots, z_{n}\right] .
\end{aligned}
$$

Proof. For derivative of function $\eta_{n}(z)$ we have an expression

$$
\begin{equation*}
\eta_{n}^{\prime}(z)=(a d-b c)^{-n} \prod_{k=0}^{n}\left(c z_{k}+d\right)\left(c z_{m}+d\right)^{n-1} \eta_{n}^{\prime}\left(\xi_{m}\right) . \tag{4}
\end{equation*}
$$

Using formula (3) for pairwise different $\xi_{0}, \ldots, \xi_{n} \in D_{0}$ we will get

$$
\begin{aligned}
& {\left[F(\xi) ; \xi_{0}, \ldots, \xi_{n}\right]=\sum_{m=0}^{n} \frac{F\left(\xi_{m}\right)}{\eta_{n}^{\prime}\left(\xi_{m}\right)}} \\
& \quad=(a d-b c)^{-n} \prod_{k=0}^{n}\left(c z_{k}+d\right) \sum_{m=0}^{n} \frac{\left(c z_{m}+d\right)^{n-1} F\left(\frac{a z_{m}+b}{c z_{m}+d}\right)}{\eta_{n}^{\prime}\left(z_{m}\right)} \\
& \quad=(a d-b c)^{-n} \prod_{k=0}^{n}\left(c z_{k}+d\right)\left[(c z+d)^{n-1} F\left(\frac{a z+b}{c z+d}\right) ; z_{0}, \ldots, z_{n}\right]
\end{aligned}
$$

Having realized limit process we ascertain, that Theorem 1 holds true in case, when there exists coincident points among $\xi_{0}, \ldots, \xi_{n} \in D_{0}$.

Let $L$ is a set of all linear functions of shape $w=t z, t>0$. For any fixed $t>0$ function $w=t z$ univalently maps half-plane $\Pi$ onto itself. Theorem 1 implies

Corollary 1. Let $w=t z \in L$ and $w_{k}=t z_{k}, k=0,1, \ldots, z_{n}$. Then

$$
\left[F(w) ; w_{0}, \ldots, w_{n}\right]=t^{-n}\left[F(t z) ; z_{0}, \ldots, z_{n}\right]
$$

Let us arbitrarily choose $w \in L$ and introduce omega-operator of $n$-th order by formula

$$
\Omega_{n}^{w}[F]=\frac{(z-1)^{n}[F(z) ; w(z), \overbrace{t, \ldots, t}^{n}]}{\frac{1}{n!} F^{(n)}(t)}
$$

This operator for any fixed $w=t z \in L$ is defined on class $A_{n}(\Pi)$ and transfers every function of class $A_{n}(\Pi)$ to the normalized function of class $\widetilde{A}_{n}(\Pi)$.

Remark 1. Let $w=t z \in L$ is arbitrarily fixed. Then operator $\Omega_{n}^{w}$ transfers function $F(z)$ of class $\widetilde{A}_{n}(\Pi)$ onto function of the same class, moreover this is one-to-one transfer.

Remark 2. Basing on the Lemmas 2 and 3 we conclude, that $K_{n}(\Pi) \subset$ $A_{n}(\Pi)$. Applying Corollary 1 we will get, that operator $\Omega_{n}^{w}$ is defined on class $K_{n}(\Pi)$ and for any fixed $w=t z \in L$ transfers every function of $K_{n}(\Pi)$ to the normalized function of $\widetilde{K}_{n}(\Pi)$.

On the ground of Remarks 1 and 2 we will call the classes $\widetilde{A}_{n}(\Pi)$ and $\widetilde{K}_{n}(\Pi)$ by linearly invariant classes. In case when domain is unit disk similar linearly invariant classes were considered in papers [6]-[10].

## 2 The following theorem demonstrates the close connection between operators $\Omega_{n}^{w}$ and $N_{n}$

Theorem 2. For arbitrarily fixed $w=t z \in L$ the equality

$$
\Omega_{n}^{w}[F(z)]=N_{n}[F(t z)]
$$

holds true.

Proof. Let us represent normalization operator for function $F(t z)$ in the form

$$
N_{n}[F(t z)]=\frac{F(t z)-P(z ; t)}{\frac{1}{n!} F^{(n)}(t) t^{n}},
$$

where $P(z ; t)$ is a polynomial:

$$
\begin{align*}
P(z ; t)=F(t) & +\frac{1}{1!} F(t) t(z-1)+\ldots \\
& +\frac{1}{(n-1)!} F^{(n-1)}(t) t^{n-1}(z-1)^{n-1} \tag{5}
\end{align*}
$$

Let $w_{k}=t z_{k}$, and $z_{k}=1$ for any integer $k$ from the interval $[1, n]$. Then $w_{k}=t$ for any integer $k$ from the interval $[1, n]$. Using Corollary 1 , we will get

$$
[F(w) ; w, \overbrace{t, \ldots, t}^{n}]=t^{-1}[F(t z) ; z, \overbrace{1, \ldots, 1}^{n}] .
$$

Note, that

$$
[F(w) ; w, \overbrace{t, \ldots, t}^{n}]=[F(z) ; w, \overbrace{t, \ldots, t}^{n}] .
$$

By using properties of normalization operator and taking into account elementary properties of $n$-th divided difference ( $[1,2]$ ), we obtain

$$
[F(z) ; w, \overbrace{t, \ldots, t}^{n}]=\frac{1}{n!} F^{(n)}(t)[N_{n}[F(t z)] ; z, \overbrace{1, \ldots, 1}^{n}],
$$

and so

$$
\frac{[F(z) ; w, \overbrace{t, \ldots, t}^{n}]}{\frac{1}{n!} f^{(n)}(1)}=[N_{n}[F(t z)] ; z, \overbrace{1, \ldots, 1}^{n}]=(z-1)^{-n} N_{n}[F(t z)] .
$$

Multiplying both sides of last equation by $(z-1)^{n}$, we will get statement of Theorem 2.

## 3 Let us find the fixed functions of operator $\Omega_{n}^{w}$

It is clear, that function $F(t z)$ is representable in the form

$$
F(t z)=P(z ; t)+\frac{F^{(n)}(t)}{n!} t^{n}(z-1)^{n}+\frac{F^{(n+1)}(t)}{(n+1)!} t^{n+1}(z-1)^{n+1}+\Psi(z ; t)
$$

where $\Psi(z ; t)$ is analytical in $\Pi$ function with parameter $t$, and $P(z ; t)$ is a polynomial (5). If $F(z) \in \widetilde{A}_{n}(\Pi)$, then

$$
\Omega_{n}^{w}[F(z)]=N_{n}[F(t z)]=(z-1)^{n}+a_{2, n}(t)(z-1)^{n+1}+\varphi(z ; t) \in \widetilde{A}_{n}(\Pi),
$$

where

$$
\begin{equation*}
a_{2, n}(t)=\frac{t F^{(n+1)}(t)}{(n+1) F^{(n)}(t)} \quad \text { and } \quad \varphi(z ; t)=\frac{\psi(z ; t)}{\frac{1}{n!} F^{(n)}(t) t^{n}} . \tag{6}
\end{equation*}
$$

Let $s$ be certain complex number and $s \notin\{0,1,2, \ldots, n-1\}$. Represent function $z^{s} \in A_{n}(\Pi)$ (assume $1^{s}=1$ for any complex $s$ ) in the form

$$
\begin{aligned}
z^{s}=P_{s}(z)+\sum_{k=1}^{m} & \frac{1}{(n+k-1)!} s(s-1) \ldots \\
& (s-(n+k-2))(z-1)^{n+k-1}+\Psi_{s, m}(z),
\end{aligned}
$$

where

$$
\begin{aligned}
P_{s}(z)=1 & +\frac{1}{1!} s(z-1)+\frac{1}{2!} s(s-1)(z-1)^{2}+\ldots \\
& +\frac{1}{(n-1)!} s(s-1) \ldots(s-(n-2))(z-1)^{n-1}
\end{aligned}
$$

and $\Psi_{s, m}(z)$ is an analytical in $\Pi$ function.
Theorem 3. Only function $\Phi_{n, a}(z)=N_{n}\left[z^{s}\right]$, where

$$
s=(n+1) a+n, \quad a=\frac{\Phi_{n, a}^{(n+1)}(1)}{(n+1)!},
$$

is a fixed point of operator $\Omega_{n}^{w}$ for any $w \in$ L, i.e.

$$
\begin{equation*}
\Omega_{n}^{w}\left[\Phi_{n, a}\right]=\Phi_{n, a}, \quad \forall w \in L . \tag{7}
\end{equation*}
$$

This function belongs to class $\widetilde{A}_{n}(\Pi)$.

Proof. Assume, that there exists function $F_{*}(z)$, satisfying condition

$$
\begin{equation*}
\Omega_{n}^{w}\left[F_{*}\right]=F_{*}, \quad \forall w \in L \tag{8}
\end{equation*}
$$

Represent function $F_{*}(z)$ in the form

$$
F_{*}(z)=(z-1)^{n}+a(z-1)^{n+1}+\Psi(z)
$$

where $\Psi(z)$ is analytical in $\Pi$ function. Further

$$
\Omega_{n}^{w}\left[F_{*}(z)\right]=(z-1)^{n}+a_{2, n}(t)(z-1)^{n+1}+\Psi(z ; t) .
$$

Requirement (8) implies that $a_{2 n}(t)=a, \forall t>0$. Using formula (6), we obtain

$$
\frac{t F_{*}^{(n+1)}(t)}{(n+1) F_{*}^{(n)}(t)}=a .
$$

Consequently $F_{*}^{(n)}(t)=n!t^{(n+1) a}, \forall t>0$. Since $F_{*}^{(n)}(t)$ is an analytical in $\Pi$ function, then, using principle of analytical extension, we will get

$$
\begin{equation*}
F_{*}^{(n)}(z)=n!z^{(n+1) a} \tag{9}
\end{equation*}
$$

Integrating (9) $n$ times, we obtain

$$
F_{*}(z)=c z^{s}+P(z)
$$

where $c$-nonzero coefficient, and $P(z)$ is a polynomial of the degree no higher than $n-1$. Moreover, function $F_{*}(z)$ must be normalized by conditions (1). Thus, if certain function is satisfying condition (8), it must be of form

$$
N_{n}\left[F_{*}\right]=N_{n}\left[c z^{s}+P\right]=N_{n}\left[z^{s}\right] .
$$

Prove now, that any function $\Phi_{n, a}(z)=N_{n}\left[z^{s}\right]$, which we will call by main, is satisfying condition (7). Basing on properties of normalization operator, we will get

$$
\begin{aligned}
\Omega_{n}^{w}\left[\Phi_{n, a}(z)\right] & =N_{n}\left[\Phi_{n, a}(t z)\right]=N_{n}\left[N_{n}\left[(t z)^{s}\right]\right] \\
& =N_{n}\left[(t z)^{s}\right]=N_{n}\left[t^{s} z^{s}\right]=N_{n}\left[z^{s}\right]=\Phi_{n, a}(z)
\end{aligned}
$$

Since $\Phi^{(n)}(z)=n!z^{(n+1) a} \neq 0$ for any $z \in \Pi$, then $\Phi_{n, a} \in \widetilde{A}_{n}(\Pi)$. The theorem is proved.

Remark 3. Main function $\Phi_{n, a}(z)$ can be represented in form

$$
\Phi_{n, a}(z)=(z-1)^{n}+\sum_{k=2}^{m} c_{k, n}(z-1)^{n+k-1}+\Psi_{s, m}(z),
$$

where

$$
c_{k, n}=\frac{n!}{(n+k-1)!}(n+1) a((n+1) a-1) \ldots((n+1) a-(k-2))
$$

and $\Psi_{s, m}(z)$ - analytical in $\Pi$ function.

## 4 Let us raise a question on invariant coefficients

Let $k$-th coefficient of certain function $F(z)$ of class $\widetilde{A}_{n}(\Pi)$ is equal to number $b_{k}$, i.e. $a_{k, n}=b_{k}$, where $k \geq 2$. If number $b_{k}$ is the $k$-th coefficient of function $F(z ; t)=\Omega_{n}^{w}[F(z)]$ for any $w \in L$, then we will call this coefficient by invariant (fixed) coefficient of function $F(z)$. It follows from Theorem 3 that every coefficient of main function $\Phi_{n, a}(z)$ is an invariant one. The below theorem allows to establish all of the functions with a previously fixed $k$-th coefficient.

Theorem 4. Let equation

$$
\begin{equation*}
\frac{n!}{(n+k-1)!} \prod_{m=0}^{k-2}((n+1) a-m)=b_{k} \tag{10}
\end{equation*}
$$

with respect to a has $k-1$ pairwise different roots $a_{1}, \ldots, a_{k-1}$. Then only function of form

$$
\begin{equation*}
F(z)=\sum_{m=1}^{k-1} c_{k} \Phi_{n, a_{k}}(z), \quad c_{1}+\ldots+c_{k-1}=1, \tag{11}
\end{equation*}
$$

has number $b_{k}$ as its $k$-th invariant coefficient.
Proof. With a purpose of finding functions with fixed $k$-th coefficient we need to solve differential equation

$$
\frac{n!t^{k-1} F^{(n+k-1)}(t)}{(n+k-1)!F^{(n)}(t)}=b_{k}
$$

Replacing real variable $t$ by complex one $z$, convert last equation to linear homogeneous differential equation

$$
\begin{equation*}
n!z^{k-1} F^{(n+k-1)}(z)-(n+k-1)!b_{k} F^{(n)}(z)=0 \tag{12}
\end{equation*}
$$

of ( $n+k-1$ )-th order with respect to $F(z)$. Equation (12) is easily converted to well-known Euler's differential equation with respect to function $\varphi(z)=$ $F^{(n)}(z)$. Since numbers $a_{1}, \ldots, a_{k-1}$ are roots of equation (10). Then it easily to check up that every function

$$
\begin{equation*}
1, z, \ldots, z^{n-1}, \Phi_{n, a_{1}}(z), \ldots, \Phi_{n, a_{k-1}}(z) \tag{13}
\end{equation*}
$$

satisfies the equation (12). These functions make up the fundamental system of solutions of equation (12). Any linear combination of functions (13) satisfies the equation (12). Since functions representable by such linear combination satisfies the normalization condition (1), then functions $1, z, \ldots, z^{n-1}$ are omitted, so only functions $\Phi_{n, a_{1}}(z), \ldots, \Phi_{n, a_{k-1}}(z)$ will remain. Taking into account normalization conditions, we will get only linear combinations (11). The proof is complete.

Corollary 2. If in Theorem 4 we assume that $b_{k}=0$, then only for function of form

$$
F(z)=\sum_{m=0}^{k-1} c_{m} \Phi_{n, a_{m}}(z), \quad \text { where } \quad \sum_{m=0}^{k-1} c_{m}=1 \quad \text { and } \quad a_{m}=\frac{m}{n+1},
$$

number $b_{k}=0$ is its invariant coefficient.
Remark 4. Roots $a_{i}, i=1, \ldots, k-1$ of equation (10) are the second coefficients of expansion of corresponding functions $\Phi_{n, a_{i}}(z), i=1, \ldots, k-1$, about the point $z=1$, i.e.

$$
\Phi_{n, a_{i}}(z)=(z-1)^{n}+a_{i}(z-1)^{n+1}+\ldots, \quad i=1, \ldots, k-1 .
$$

Remark 5. Let us investigate separately equation (10), which we can rewrite in the form

$$
\begin{equation*}
\chi(\lambda)-c=0, \tag{14}
\end{equation*}
$$

where

$$
c=\frac{b_{k}(n+k-1)!}{n!}, \quad \lambda=(n+1) a, \quad \chi(\lambda)=\prod_{m=0}^{k-2}(\lambda-m) .
$$

Let us denote $\chi_{c}(\lambda)=\chi(\lambda)-c$. It is obvious that $\chi_{c}(\lambda)$ is a polynomial of $(k-1)$-th order. We can state that any root of polynomial $\chi_{c}(\lambda)$ has the multiplicity no higher than two. Indeed, polynomial $\chi_{0}(\lambda)$ has $k-1$ pairwise different roots. According Rolle's theorem derivative $\chi_{0}^{\prime}(\lambda)$ of such polynomial has $k-2$ pairwise different roots, among which there are no roots of polynomial $\chi_{0}(\lambda)$. In other words, every root of polynomial $\chi_{0}^{\prime}(a)$ is of multiplicity one. Assume that $\lambda_{c}$ is a root of polynomial $\chi_{c}(\lambda)$ of the multiplicity three. Then polynomial $\chi_{c}^{\prime}(\lambda) \equiv \chi_{0}^{\prime}(\lambda)$ has the root $\lambda_{c}$ of the multiplicity two that is impossible. Thus, equation (14) and then, equation (10) have no root with multiplicity greater than two.

## References

1. Ibragimov I.I. Methods of interpolation and some application, Moscow, Nauka, p. 519, 1971 (in Russian)
2. Gelfond A.O. Calculus of finite differences, Moscow, Nauka, p. 370, 1967 (in Russian)
3. Kiriyackii E.G. "On some properties of functions with nonzero divided difference", Lith. Math. Journ., 12(1), p. 129-137, 1972 (in Russian)
4. Aleksandrov I.A. Methods of geometrical theory of analytical functions, Tomsk University, p. 220, 2001 (in Russian)
5. Goluzin G.M. Geometrical theory of functions of complex variable, Moscow, Nauka, p. 628, 1965 (in Russian)
6. Pommerenke Ch. "Linear-invariante Familien analytischer Funktionen", I. Math. Ann., 155, p. 108-154, 1964 (in German)
7. Starkov V.V. "Directions of intensive growth of locally univalent functions", Complex analysis and applications, Sofia, 1988
8. Starkov V.V. "Regularity theorems for universal linear-invariant families", In Proc. of International Conference of constructive functions theory, Varna 84, Sofia, p. 76-80, 1984
9. Godulya Ya., Starkov V.V. "Linearly invariant families", [J]. Tr. Petrozavodsk. Gos. Univ., Ser. Mat., 5, p. 3-96, 1998 (in Russian)
10. Starkov V.V., Yakubovskii Z.Yu. "Coincidence of two linearly invariant families of functions", [J] Russ. Math., 46(4), p. 49-56, 2002 (in Russian, English), translation from Izv. Vyssh. Uchebn. Zaved. Mat. 4(4), p. 51-58, 2002 [ISSN 1066-369X]
